REEN “,Al.p]! Claday) Abiud wlasyl fu--ui
EE231 3aladl S Y sl Atk
A 2019 Ciysa 1l pal) Jeallh Fasits
: "i;!,l!i!!'pﬁgl_lunln : b"‘?"n CLETETY Ty wl PS.J ;“u'q-;_u-'-n_"u.i
5 : Answer ALL quesuons

.

Ques on Gner [10 marks}

a. Gnrrect the errors in the following MATLAB codes J
Questions g : ] __Your Answers
A=l ae) : :
c= ta +b] ;
x=1; a=2; b=3
if x<20
r=a*.b; ;
a=a+, 1, i
end ; 4 T R
function F= =fact[s] 3 ‘ R
i F=1;
for i=2:s
s BoR g
end
! rand{B 4)
'jx reshapﬂj6,3

1nput{ enter the value ef a’ BT
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Que&hbn TWn. {10 marks] e ' ' A TR Rt :
Fm' each of the foi]nwmg MATLAB codes, write the value of the output, T .
e R T e R Y e A S P
S i (x) ; L : LA
Hon Rails as T oo g | - hl o
ol length(mln(sum(x})) ‘ : ERNRHCINSE B s S A
a=2:3:8; B , i : P
b=(a' a' a']; | Lt
| d=a+b; 3 c= ' pERETR ‘
| c=size () | e
A=2+rem(2,9)+3*%2/2-3
~ = |y=1.20; , - i : [ehe ey
Seligte S 5879; e o
fprlntf( variable x is %06.3f\n',x); A LR G R R e .
T=0y T L v e e
if T < 30 ‘ |1
S R AT AR
elseif T <10










